PROFESSIONAL EXAMINATION BOARD

General Nursing Training Selection Test (GNTST) and Pre-
Nursing Selection Test (PNST)
19th June 2016, 09:00 AM

Topic:- Physics

1)

Question Stimulus :-

The value of 2 is (in MKS unit): /%° &1 #F gidT1 8 (MKS HTF® #):
. 886x10¢

o 8.86x10712

o 9%x107°

None of these/SH q HIS 5!

-1z
Correct Answer ;-5-56 x 10

2)
Question Stimulus :-

When a boy sit on a swing its time period is T; and T, when a boy stand on it, then the
relation between T, and T, is: /U® A BT ATdBTA T, & TGS 3° W T 861 ¢ AUT T, & 94
g @ST B AT 81 T, 9 T, H AaY B

* T =T,
* T, >T,
* T <T>
* 2T; =T,
Correct Answer :-T; > T,

3)
Question Stimulus :-

If the input is given between A and C then the output at the ends of R will be: / gfe
$1YC A 3R C & Her faan o1 381 8 af R & ATU8 313eye ghm:



Input ® :
IQ—J(
% : R

Fully rectifier/ quf fgye®rt
Half rectifier/érlﬁ ﬁm

Alternate Current/uﬂﬁ?ﬁ T

* None of these/3TH ¥ HIg 8!

Correct Answer :-Fully rectifier/ Quf fgye®

4)
Question Stimulus :-

If a thin prism has angle 10° and “ = L5 then angle of deviation produced by it

will be: /3f¢ Tad fIsH &1 ®I0T 10° Gy 4= 1> g A1 59 GRT I~ faga o1 ghm:
e 10°
e 15°
e 6.6°
e 50
Correct Answer :-5°

5)
Question Stimulus :-

Two train moves towards each other on parallel tracks. If the length of each train is 50
m and their velocities are 10 m/s and 15m/s respectively. They will cross each other

in:/ & YETITSAT THTAR YAl R TH-gaX &1 3R 1 61 31 YD ¥es! t da18 50 e §, 596
T HURT: 10 H/A TE 15 H/F 31 3 TH g B UR St

e 2second/ 2 A&Hs
e *second/ 4 ¥os
e 10 second/10 AFHS



e V13 gecond/ V1 Adhg
Correct Answer :-*second/ 4 9%

6)
Question Stimulus :-

Kirchhoff’s first and second law shows the conservation respectively./ﬁﬂiﬁ'l'ﬁ BT UYH T
gdta Frau wusn: feaeT e gxifa 82

* Linear and angular momentum/ G AT 3R HIoftg FAT B
® Charge and Energy/ 3T 3R St Br
e Momentum and Energy/ |aT 3R Sulf &1
® Charge and Linear momentum/ MY iR ¥ g T
Correct Answer :-Charge and Energy/ 3Ma% 3R 6l &1
7)
Question Stimulus :-

If 10°° culomb charge given of a sphere of radius 10 cm then its potential will be-/afg

10 It Boar & TP Ma & 1075 pard maw fear war, af 9@ faya gim-
o Zero/YH
e 9x10°V
® 450V
°* 900V
Correct Answer :-9 x 107> V
8)
Question Stimulus :-

The ratio in moment of inertia of two circular ring is 2 : 1 and the ratio in their
radius is 2 : 1. The ratio in their masses will be: /3 @4l & Js@ arrqpﬁw SIUTd 2
: 1 8 YT ST FASaTe T U 2 :1 81 3% SAUI BT 3UTd gI:



Correct Answer :-1: 2

9)
Question Stimulus :-
If a man of mass 60 kg forced another man of mass 40 kg by force 60 N then the force
implemented by man of mass 40 kg to mass 60 kg man will be: /af¢ 60 f&uT SaHTT aren
T Afed 40 fHuT Soaw aTd gax aAfad 1 60 N 9@ 3T @ df 40 U1 soawT= arat &afad gIRT 60
U goHT aret safed W & 99 B

e 40N

e Zero/H

e 60N

e 20N

Correct Answer :-60 N

10)
Question Stimulus :-

The current in the branch AB is-/ AB UGS H YRT &T 9 &-

M "

iy
441

o/
e 1A
e 2A
e 1.5A
e 3A
Correct Answer :-2A

11)



Question Stimulus :-

The motion of molecules in a gas is: / Uk GFUJGﬁ ot fd gt &
® One dimensional / Wﬁ'ﬁﬂﬂ
* Two dimensional /ﬁﬁ'ﬁﬁﬂ
® Three dimensional /ﬁlﬁtﬂ'q
e Only up down / Had FWR A

Correct Answer :-Three dimensional /Rfadia

12)
Question Stimulus :-

If the forward voltage in diode increase then its depletion layer length is: /Hﬁ@'ﬂﬁ%’ Cal
3 dieedl del faar ot 3raerd wRd 3t daTs:

e Decreased/He WTdt §

e Increased/dg WTdl §

e Remain same/3[uivafdd ¥gdt 8
e None of these/3H A P &l

Correct Answer :-Decreased/9e SITdl %

13)

Question Stimulus :-

A body takes 4 minutes to cool from 100°C to 50°C. To cool from 50°C to 30°cC it will
take a time of [room temperature is 15°C]: /T&% fius 100°C ¥ 50°C 9% ST 8 H 4 fiAe
BT JHY ddl g fUve &1 50°C A 30°C a9 ST B & @ JIHYI g1 [Tfe HHY BT dTyH= 15°C 8]:

96 96 . -
= second — Ydhs
25 /%

o =

50 50 . -
= secand/i Hehs

e 3

96 -
% second — Yhs
o 17 /12

72 77 o -
= second — s
& /¢



96 96 -
= second — Hdhs
Correct Answer :-= /%=

14)
Question Stimulus :-

If magnetic flux linked with a coil is given by ¢ = 5t2+3t+16, Then induced e.m.f. in 4th
sec is-/ afe foreft puse TWEfRE Jaaia wIa ¢ = 5t2+3t+16 g, df A APHvs A I fA.ar.ad
P A 8-

e 10V
o -10V
o -43V
o -33V

Correct Answer :-10V

15)
Question Stimulus :-
Dispersion without deviation may be find by: /fdgaq fag= faguur ura #=q &:
e Simple prism /IR fisH gRT
e Two prism with different glasses and different angles/ﬁ-lr_-l- i ®rg 9t - i
DI & o e gt

e Two prism with different glasses and same angles /3 f{=- fi=1 &9 & JHTH HIUN &
forsw g_1

e Two prism with same glasses and different angles / &l IHTH &4 & s 9% Hor
- = gt

Correct Answer :-Two prism with different glasses and different angles/ﬁ-lv_-[- =1 o9
a4 fi=- = Son & o e grr

16)

Question Stimulus :-

_ Mgl _Mel
In” =l if the weight ‘Mg’ will be doubled then the value of y will be: /1“"r el F
gfé UR ‘Mg’ & SRFT HA R y BT A &1 STC:

.2y




°y
o Zero/H

Correct Answer :-y

17)
Question Stimulus :-

Force between two long straight parallel current carrying wire is F. If the current in
one of them is doubled the force between them will be-/3l @ fagad YRT a5® aRT & A
99 F €, afe YRT &7 419 T aR | &f 1 o foun 9, df 3% Aey e  arem 94 ghm-

Correct Answer :-2F

18)
Question Stimulus :-

The frequencies of three same amplitude sound waves are n — 1, n and n + 1. After
superposition they produce beats, the number of beats per second will be: /HHTT 3™ATH

ot d19 @fat t emgfadi n - 1, n 3R n + 1 31 3 S@RIRE o faw< Sa=a=d! 31 ufa Sos

4
. 3
2
1

Correct Answer :-2

19)

Question Stimulus :-



In the arrangement shown in the figure, the time period for vertical oscillation of the

mass m is (%( is spring constant): /RETIAR, SaWTM m & Swidd iad &I Adasrd o- (k

T=21T|
Ky + ko
. AT
'k, + ks
T=2mn |—
. A7
Im(k, + k
T=2n | (klk )
. N\ ak
[ mg
T=21T|
ky + ko
. AF

|
T=21‘r|
ki + ks,
_,Jl 2

Correct Answer :-

20)
Question Stimulus :-

Three masses 2kg, 4kg, and 4kg are put on three points (1,0,0), (1,1,0) and (0,1,0)
respectively. The position vector of centre of mass will be: /2 f&uT, 4 foour, aur 4 fFm &
& s waRn: = fagait (1,0,0), (1,1,0) 99T (0,1,0) R @ T g1 5oquTE Fv &1 FRufaws afew
'eﬁ'ﬂT:



4!.
c)

3 +
=1
Correct Answer :->

21)
Question Stimulus :-

A 20 cm focal length convex lens combined with concave lens of focal length 25 cm.

The power of combined lens is: /20 JH! BIHT g3 T I AT TH 25 AU BIHd gil & add
A9 & Tud # 81 Ygad A9 P &Har &

e 1 dioptre / 1 S133TYeY

e 2 dioptre/2 SIg3MYex

e 3 dioptre/3 SIg3MYe

e 0.5 dioptre/0.5 SIg3TYex
Correct Answer :-1 dioptre / 1 S1g3(TqeX
22)

Question Stimulus :-

An X-ray tube operates on 30 kV. What is the minimum wavelength emits by it? (

h=66x10"]s,c = 3x10°m/s g = 1.6 X107 colomb). /g gaw-X Tl 30 kV W Harfrd Y STl

2 a1 SuY fieaq ardl <graw avieH 3- (h:5.5x1{]-34 A, c=3 xmﬁa:?rm, o= 1.6 x 10 TeilA
):

o 0.133A
o 044
o 124
o 6.64

Correct Answer :-044

23)
Question Stimulus :-

When 20 Joule of work was done on a gas, 40 Joule of heat energy was released. If the
initial internal energy of the gas was 70 Joule, what will be the final internal energy: /

w9 fordt A9 R 20 5@ i frar Srar 8 99 S99 40 S[d ST Yad gid! 31 afe A9 3t wRfie siafvs
ol 70 5@ At 91 IS Sifaw sriafve et g



® 50 Joule/50 v
® 60 Joule/60 a1
® 90 Joule/90 a1
® 110 Joule/110 Ydl

Correct Answer :-50 Joule/50 S[d

24)
Question Stimulus :-

By photo electric effect, Einstein proves that: /Y&T=I fagaa wuTa gRT Mgl A R faran
fo:

e E=hv
1':E—1 =
° '_va
° E =2M(?
_ RhC?
° B n?

Correct Answer :-E =1V

25)
Question Stimulus :-

Moment of inertia depends on: /Sigd &IT'Ej:Ufﬁﬂ-ﬁ C G %:
® Mass/SHAHATT WX
* Distribution of mass/SdHT faavur
®* Angular velocity/ilﬁ'Uﬁ'q GRS

e Position of rotational axis and mass distribution/qui9 3f& 3t fRUfY Td goau™ faavor w®

Correct Answer :-Position of rotational axis and mass distribution/guiq 31&f &1 fRAfq Ta@
ST faavor v

26)

Question Stimulus :-



The angular velocity of geo-stationary satellite is-/Y-fRR Iuug & Hivfta ara it &-

T

a TI'- -
, 13 radian/Hour/— Tl

T T -
£ radian/Hour/ — S E T

g radian,‘Haur,’g T%?]FU‘EIE'I
m radian /Hour/n T%?FUEIEI

T T -
— radian/H — YT
Correct Answer :-12 radian/ Gur’fﬂ

27)
Question Stimulus :-

A circular coil of radius R is placed in a uniform magnetic field such that the plane of
the coil is perpendicular to magnetic field. If a current I is passed thought the coil, the

magnetic force on the coil is-/U® RﬁWHﬂWWWWWWQﬂﬁWW
T STt 8, fF Puset o1 sier gABIY &F & daad 81, afe pusal | yarfed URT §, 9 39 W geag

99 BT 71 &-

o 2mRBI

o 4mRBI

o SmRBI

® Zero/H

Correct Answer :-Zero /™

28)
Question Stimulus :-

If we require 10 Newton force to break a wire of 1 mm radius then what force require

to break a wire of 3 mm radius: /3¢ 1 it BT & e IR ot die & AT 10 =g ga ot
STaRgHal gidl g a9 3 firedt s & ar &t dieq & i smaza® I ghm:

® 90 Newton/90 <JcH
10 10
e 3 Newton/ 3 <cH

10 10
e  Newton/ =



®* 30 Newton/30 ¢+

Correct Answer :-90 Newton/90 <+

29)
Question Stimulus :-

Henry is a unit of-/ %qff HTAD %—
® Conductivity/ oTiaT &1
e Magnetic field/ I®T &7 BT
e Magnetic flux/ GaHIT FIRT BT
e Self Inductance/ TIIRB BT

Correct Answer :-Self Inductance/ TWIR®E BT

30)

Question Stimulus :-

A Photon wavelength is 29094 jts energy will be: /U® WIer $T aairgef 50004 3
IS SHelt ghil:

o 4X 107 Joule 4% 107 g
o 4x 10715 _]DlllE.-/ 4x 10718 o[a
o 6% 1074 Joule /6 x 1074 g

e Ox10710 ]aulels % 10718 ol

-19 -19
Correct Answer :-%> 107" Joule /4> 107 grq

Topic:- Chemistry
1)

Question Stimulus :-
The magnetic moment (spin only) of [NiCI]," is-/[NiCI]“‘ PT GIDIG MUl (Had THUT) a2
e 5,46 BM

e 1.41 BM



e 2.83 BM

e 1.82 BM
Correct Answer :-1.41 BM
2)

Question Stimulus :-

The half-cell reactions are-/ 19 rgaa fHfpamd g-

For the cell reaction the EMF is-/ 9 3fufesar &

T EMF ®-
¢ +0.35V
¢ -0.35V
o -1.17V
* +0.77V

Correct Answer :-+0.35V

3)
Question Stimulus :-

Which of the following is used in carbon dating (Radio carbon dating) techniques?/ g
# ¥ fra s+ efdw (fear rdq 2fem) ugfa # Suanr foear sirar 82

o 16¢

o 20¢

o 1l4c

e None of these/ 38 I ®IS &l
Correct Answer :-14c

4)

Question Stimulus :-



The number of unpaired electrons in carbon atom is-/PTa UIHTY[ | arrq&la sﬁﬂﬁ'—ﬁ G|
@ 8-

® One/ Th

e Three/ dH

° Two/E’f

* Four/ dR
Correct Answer :-Two/ &
5)

Question Stimulus :-

The ionization potential is lowest for the-/ﬁl’H # A fras ford sma==1 favg fAgaw %?
e Inert gases/&IﬁW e
e Halogens/ LUK
o Alkali metals/ &R 4TgQ
 Alkaline earth metals/ &g gar gy
Correct Answer :-Alkali metals/ &R 4Tgd
6)
Question Stimulus :-

EDTA has denticity-/ EDTA A EERHT %—
e 3

e 4
6
e 2

Correct Answer :-6

7)

Question Stimulus :-

The cause of formation of 1, 1-dichloro ethane with Vinly chloride and HCI is-/ ﬁqﬁﬁ



FARTES TG HCI & 1, 1-STSTIRI TIT T4 T HRT 32
e Mesomeric effects of Cl/ Cl T AHITR® TUTd
e Restricted rotation of double bond/ fga=I &1 ufasfea gofq
e Inductive effect of Cl/ Cl 3T WRfT® UHTG
* None of these/ ?Flﬁ J Hﬁ'&" &l

Correct Answer :-None of these/ §7H § ®I5 gl

8)
Question Stimulus :-

Which pair of hexose on reaction with phenyl hydrazine gives same Osazone?/ TR

BT HIF-91 TH B e1ggeid @ AfHPar H I nETSiy S 8-
® Glucose and Ribose/ Wam
® Glucose and Sorbose/ WEﬁTrr q IRag
® Glucose and Fructose/ 1@\‘:[ q paerd
® Fructose and Sorbose/ had g 9 TR
Correct Answer :-Glucose and Fructose/ Tq@Idl d el

9)
Question Stimulus :-

In the reaction M + 8CN™+ 2H:0 + 0, = 4[M(CN),]™ + 40H™ M js-/ afiifipar
4M + BCN™ + 2H;0 + 0, = 4[M(CN),I™ + 40H™ g v 2-

e Iron/3MARA
e Gold/ Tiits
o Zinc/ﬁ;i$
° Copper/frl?‘l"lflir
Correct Answer :-Gold/ Ties

10)

Question Stimulus :-



The specie which behaves as Lewis acid but is not a Bronsted acid is-/ 98 WeITfd o ﬁi‘x‘l
T Bt UG HAER XL §, AP FIECS 37 T8 o-

Correct Answer :-BPE

11)

Question Stimulus :-

Baking soda is-/ ST TreT gt %—
* Na,COj3
* Na,SO,
* NaHCO3
e Sodium/JfsaH
Correct Answer :-NaHCO5
12)

Question Stimulus :-

CoHy(g) + 20,(g) = 2C0,(g) + H,0(g) .

The enthalpy change for the reaction is known as

/ srfufesar C2Hy(g) + 7 02(g) —» 2€0,(g) + H,0(g) T SHET Uf¥ad= ATAT ST 8-

enthalpy of-
® Fusion heat / TTdHd &I
e Combustion heat/¢g1 HtHI
® Vaporisation heat/ dIq< K THT
* Formation heat/ HHdd I

Correct Answer :-Combustion heat/ggd &I

13)



Question Stimulus :-

Propyne reacts with water in presence of HgSO4 and H,SO,4 to from-/ L'ﬁTnET{ I & 91y
HgSO0, 3R H,S0, @I Sufkifa ¥ arfufspar #xd ar &-

e Acetone/ e

e Acetaldehyde/ BHefssrss

e Methyl acetate/ fIursa wiice
* Acetic acid/ ¥3Rfew ara

Correct Answer :-Acetone/ THIEH

14)
Question Stimulus :-

What is the formula of common table salt?/ HTHIRI ¢gd AqUT BT e 8?2
e KCI
* NacCl
* CaCl,
e None of these/ §TH ¥ ®Ig gl
Correct Answer :-NaCl

15)
Question Stimulus :-

Which of the following gases has the maximum amount in Earth’s atmosphere? / |

¥ P9 A 19 gt & argiica & Jatfie e & urg wrdt 82
* Oxygen/3iTqite
e Nitrogen/ ATg¢IoA
e Argon/3lfq
e Chlorine/TR¥H
Correct Answer :-Nitrogen/ ATggre

16)



Question Stimulus :-

The reaction with AH = AE is-/ AH = AE arait 3rfufssar 3-
* C(s) + 2H;0(g) — 2H;(g) + COz(g)
® 2CO(g) + Oz(g) — 2€C03(g)
* PClg(g) — PCl3(g) + Cla(q)
* Hy(g) + Bry(g) — 2HBr(q)

Correct Answer :-Hy(g) + Bry(g) — 2HBr(q)

17)
Question Stimulus :-

Substance formed by fused matter with flux is called-/dg gerd St A & 9y ufafspar avd
Ta-g ged 9T 8, Peard 8-

Flux/TTd®

Catalyst /E?QW

Slag/YTdHd

Ore/ 3%

Correct Answer :-Slag/YTqHd

18)
Question Stimulus :-

Which of the following molecule has unpaired electrons in antibonding molecular

orbital?/ fU & | - AT V] TASII (V] H&rP W YT FATT IWT 82

Correct Answer :-0,



19)
Question Stimulus :-

Sulphide ore of a metal is converted into metal oxide-/ &%l 4Ig % HEPTTS AT HI g
ffqargs # ufvafda faar s 3-

* By roasting/ Yol 3
e By bessemerisation/ SHHIIHIOT A
e By smelting/ e o
e By calcination/ fFamga &
Correct Answer :-By roasting/ o9 I
20)

Question Stimulus :-

Polymer used to prepare rayon is? /fafafea # q PH-91 EIEFIT:FQ'CIVH CEIEE:] Ugad g %?

° CeIIquse/mﬁ
° Polyester/ﬁ?ﬁﬁ??
° Nonn/HTQ?ﬁ'T-r

° Starch/R‘I?f

Correct Answer :-Cellulose/ 9gaig

21)
Question Stimulus :-

Which of the following reacts with aqueous solution of Ag(NH3),0H?/Ag(NH3),0H *
wieit faeraer & fopan &var @8-

e Ethane/ t{ﬂ?

e Ethene/ gzﬁ-—r

e 1-Butene/ 1-&¢H
® 2-Butyne/ 2-6&21%7-[

Correct Answer :-1-Butene/ 1-&J¢H



22)
Question Stimulus :-

When 2-butyne is made to react with H, in presence of Pd-BaSO,4 the product formed
is-/ 99 2-SeTs9 B H, & T4 Pd-BasS0, ¥t IufRfa & 3rfirgpd foran wirar 8, 99 911 arar Sdre
AR

e 1-Butene/ 1-393.‘17-[

e 2-Hydoxy butane/ 2-gTsSIwil -

® Trans-2-butene/ Trans-Zﬁqﬁq

e Cis-2-Butene/ Cis-2 I
Correct Answer :-Cis-2-Butene/ Cis-2 &¢I
23)

Question Stimulus :-

Unit of rate constant of following homogeneous reaction is-/ % I®if srfuferar & @ <=
fradaie o1 3913 8-

A+BSC
e mollL1
e mol st
e molLls?
e Lmolls
Correct Answer :-Lmol™! s™1

24)
Question Stimulus :-

The number of unpaired electrons in Fe3+ is-/ Fe3+ # JMYfRd gaaeAl &1 B 8-

e 2



e 1
Correct Answer :-5

25)

Question Stimulus :-

Purity of Organic compounds is verified with-/ Prafe NP Pt Re&dT G| '\‘lﬂ'@ P STl 8-
e Melting point/ &P gRT
* Density/ 99 gRT
®* Molecular weight/ 3U[HRR gRT
* Solubility in water/ 5@ # facigdr gRT
Correct Answer :-Melting point/ TdI® gRT
26)

Question Stimulus :-

In which of following acid is Consider as weak acid-/m 3T B gé?r ST HTAT SITdT %—
e H,SO,
* H3PO,
e HCI

e Battery Acid/ dc3t 3l

Correct Answer :-H3PO,4

27)
Question Stimulus :-

The co-ordination number for simple cubic unit cell is-/33d g Uhdh ?ﬁfﬁfﬂ & ﬁl‘Q JHqg
T BT HH &-

e 4



e 8
Correct Answer :-6
28)

Question Stimulus :-

Which of the following vitamin is water soluble?/ 9 & ¥ ®I9-1 fderfi= wa A fadyg 82
e Vitamin A/ﬁE'IﬁF-r A
e Vitamin B/ﬁ:’ETﬁF-T B
e Vitamin E/ﬁET&F-[ E
e Vitamin K/ﬁ?lﬁF-r K
Correct Answer :-Vitamin B/fdeiiii B
29)

Question Stimulus :-

Weakest base among the following is-/ fFafefaa o gﬁ?ﬁm &R 8-
H-

Cl~

CHs~

CH,0~

Correct Answer :-¢

30)
Question Stimulus :-

Raoult’s Law is related to-/ 33w &1 fraw g & gwifiq 3-
e Vapour Pressure/ diq ¢Id
* Freezing Point/ fgdi®
* Boiling point/ ®aYi®

e Osmotic pressure/ IRTARUI qId



Correct Answer :-Vapour Pressure/ ditq ¢id

Topic:- Botany
1)

Question Stimulus :-
Annulus of moss capsule separates-/ d1d %QFI DI TG YYPp HhIdl -
®* Operculum and columella/ Gﬁ'ﬂw eﬁ'\raﬁﬂ;ﬁw
* Theca and columella/ T 3R Hiegaar
e Theca from operculum/ F&T FI ATRPaH I
® Columella from apophysis/ ﬂﬁﬁlﬁ?ﬂ | @Wﬁm I
Correct Answer :-Theca from operculum/ F&T & TR &
2)

Question Stimulus :-

The female sex organ in Riccia and Funaria is-/ Rfeaan au1 WA & Arer o=+ 3

e-

e Archegonium/ TSR

* Antheridium/ TRifsaw

° Oospore/m?

e Paraphyses/ WRTHARTH
Correct Answer :-Archegonium/ 3T®RITaH
3)

Question Stimulus :-

Heteroblastic development refers to-/ fei=aiRes faer wearan %—

e Male and female sex organs on the same plant/ T& g WY W R dUT HIGT F= 3 BT
fawra

®* Vegetative growth the flowering in different seasons/ faftra %_g[\?rﬁ ¥ 1ia® q@ GRI
que

e An adult organ which is physiologically different from juvenile organs/ T&% ufvus
3T &1 faTa Y ganTsa o ¥ wirffeta wu J firg giar @



e Two types of spores in the same plant/ T& g WY # 3 UpR & wWif

Correct Answer :-An adult organ which is physiologically different from juvenile

organs/ T URRU® 3T &1 fadra Y ga-rsa o | wififety *ud R giar g

4)
Question Stimulus :-

“Impure air is purified in the presence of light and green plants” was first said by-/

TP IR ¥ Wl Y IuRUFT F 3rgs a1g P & STl @ HaH Uged fopa Sarar-
* De Saussure/ 3! UIaR 4
e Priestley/ Wied 1
* Van Helmont/ d-gadIve 3
e Ingenhousz/ SI-8ISY A

Correct Answer :-Priestley/ Wied 3

5)
Question Stimulus :-

Histone proteins found in the nuclei of eukaryotes are rich in-/ g&4acd & H5d §
SUfRE faeet= Wid & ugR U & U 9T @

e Glycine and phenylalanine/ @IId T4 fpATSd TaASH
e Lysine and arginine/ @AY Td SMTSiff~

e Glycine and arginine/ TR T4 (TSI

e Phenylalanine and lysine/ Wﬁﬂﬁmﬁﬁﬂﬁ?

Correct Answer :-Lysine and arginine/ AR Ta 3(TSi=-

6)
Question Stimulus :-

One of the most common enzyme found in peroxisome is-/ W3R § Mgl 9 ardm b
ITHTY (Most common) USITSH 8-

e Hydrolase/ IS
e Catalase/ ¥cTad



e Dehydrogenase/ f&grsgifoTs

¢ Reductase/ REaw
Correct Answer :-Catalase/ &erasl
7)
Question Stimulus :-

In a seed of maize, scutellum is considered as cotyledon because it-/ HIbI & dio ﬁ,

AN ®I Uz Hed § Hife-
e Protects the embryo/ YUT &I I&T HId &
® Contains food for the embryo/ YUl & ford Wie= I8l Eﬂ'clT %

* Absorbs food materials and supplies them to the embryo/ Wi uerd &1 sraxnfya
AT ¢ 3R YOI 9 UgardT @

e Converts itself into a monocot leaf/ ¥4 3| Eib_cﬂm H deddl %

Correct Answer :-Absorbs food materials and supplies them to the embryo/ g uerd
B TG HaT § 3R YT b ugardr &

8)
Question Stimulus :-

Nucleoid is-/ Wéﬁ?{&' 'eﬁ'cIT %—

* A single inactive nucleus having double stranded DNA and proteins/ Wﬁf@ﬂ

P Fod A8 PUSHId DNA d M gar @

* A group of chromosomes associated with proteins/ PG BT qYg CIN IR K
TgaT 8

* A nucleus without nuclear membrane and nucleolus or genetic material of

proqlf(aryotes/ = o Arfiey f¥edt 9 gfeaaray &) giar 1Yar Uieivdie T aifie
uar

* A chromosome associated with proteins/ T® B S N J g Yodl %

Correct Answer :-A nucleus without nuclear membrane and nucleolus or genetic

material of prokaryotes/ 5@ forad AU f1e T <gfFaaias A8t giaT Sryar Wieidie &1
Sraif¥re uerd
9)

Question Stimulus :-



The fibrous bands of thickening in anther are laid down-/TRR | Rq & dqHd Ug gd 8-
® In the form of annuli/QTqﬁr FEIY
e In the form of radial bands /3R Ug & U {
e In the form of spiral bands/IfAT®R Ug & *U
¢ In the form of tangential strips/W’EﬁﬁI @% U H
Correct Answer :-In the form of radial bands/ 34 g FEUH

10)
Question Stimulus :-

Nux vomica tree belongs to genus-/ TRIQIST &1 gef g a1 A 3T 8-
* Emblica/ THdteI
e Ferula/ HeEdl
e Strychnos/ Eﬁﬂv_—ﬁﬂ
* None of the above/ SWad § 9 ﬂ'ﬁ's: qﬁ

Correct Answer :-Strychnos/ El?g?)_—ﬁﬂ
11)

Question Stimulus :-

Per sporophyll only one sporangia is formed in-/ ufa Fﬁﬁﬁﬁraﬁﬁw f=rar fead
fawfya giar 8-

Selaginella/ RyafoHaer #
Fern/ B A

Pinus/ U9 H
All the above/ 3UWRYad G4 #

Correct Answer :-Selaginella/ faafsHer &

12)

Question Stimulus :-

Raphides are found in-/ WIEEW frad U wTa 8-



Dahlia/ sgferan

Asparagus/ TR

Nut/ dc¢

Guava/ 3fH®q

Correct Answer :-Asparagus/ TERTH
13)

Question Stimulus :-

Probability of genotype TTrr in 2 generation of a dihybrid cross is- / 31'%31?{@3
P @1 = W H SISy TTrr &) Urae gidl 8-

.;_-,.,l e

.;_-,-.,l =

Correct Answer :- ¢

14)
Question Stimulus :-

Genetic transfer through viruses is called-/ fauTU[S & GRT TG WG Bt Fed &-
e Sexduction/ SIS

* Transduction/ SRASRH
e Conjugation/ IgWHA

e Transformation/ SABIHIN

Correct Answer :-Transduction/ SISRMH

15)

Question Stimulus :-



Antigen specificity is due to the-/T<w fafdryar gidt 8-
e Presence of glycoproteins in the membrane/ f3Ict # TSI IUfRG 1 & BRI
e Absence of glycoproteins in the membrane/ e & T@AHIUE UG 1 & BRI
e Presence of phospholipids in the membrane/ 3l ¥ BiapIfaiigd SufRyd g4 & HIRUI
e Presence of nucleoside in the membrane/ f3reelt # q%‘qﬁ'm'ﬁ'a SUfRYA B & ST

Correct Answer :-Presence of glycoproteins in the membrane/ @ﬁ T TSI
SUFRA B & SROT

16)
Question Stimulus :-

Roots can take oxygen when it is in-/ \‘r@ TR &1 IuNT forg = & Bl %'-
e Gaseous form/ 19 & U H
e Solution with water/ Selg fdeaq & ®u &
e Chemical combination with other compounds/ gaX difI®l & ATY A6 TINT D
e Liquid form/ @& ¥U
Correct Answer :-Gaseous form/ I & U &
17)

Question Stimulus :-

The murein found in bacterial cell is-/ T:ﬂT:ITlI[ PIHT § 94T S+ arer RIﬁT-T ghaT 8-
e Derivative of protein/ M &1 gqd
® Derivative of fat/ 9T &I A
* Derivative of organic acids/ PIA~IP FA BT g
* Derivative of sugars/ DT 3 gdad

Correct Answer :-Derivative of sugars/ X1 37 g

18)

Question Stimulus :-



Asparagus is a native of- /T BT IART T 8-
« Europe and Western Asia / JRIU a1 uf3rft e

e India/YHRRd
e China/d4

« USA/TEET
Correct Answer :-Europe and Western Asia / Q3T a1 Uf3edt efRrm

19)
Question Stimulus :-

In an organism, pink spot is a sex-linked recessive trait and black hair is dominant to
white. If a pink spotted black heterozygous female is mated to a white male which is
not spotted, the phenotypic ratio of the offspring would be-/ =it sfia & ard! ys3 T

Ty SMUTA A&V 8 TUT BT T Tbg W THTA &1 afe Tardl U3 arell Hrell fex o qrar
P I TP Y I(gd Tbg R A ST 14 1 Jdfadl @t BiAfeUD g3 gili-

e 1/4 spotted black; 1/4 pink spotted white; 1/4 unspotted black;
1/4 unspotted white/ 1/4 YSER &Td; 1/4 USSR ([AET) dha; 1/4
(YsRed) ®19; 1/4 ysRkfed e

e 1/2 pink spotted black; 1/2 pink spotted white/1/2 HFITJ'] U@ER AL 1/2{'[&1??[
YSER Tbg

e 3/4 pink spotted black; 1/4 pink spotted white/3/4 ﬂFI'IEﬁ YR
PIa 1/4 AN YER Gbg

« 3/4 unspotted black ; 1/4 pink spotted white/3/4 YsRfed &1d

1/4 TAE! YNGR The

Correct Answer :-1/4 spotted black; 1/4 pink spotted white; 1/4 unspotted
black; 1/4 unspotted white/ 1/4 YR &Td; 1/4 YR (ATET) Tbe; 1/4

(ysRfed) P1el; 1/4 YRfgd Ao

20)
Question Stimulus :-

Which of the following represents obligate anaerobes?/ o o Q -1 ifvard sraradg
(obligate anaerobes) %—

e Spirogyra/ TTARITART



® Pisum sativum/ UIgHH HCIgdH

e Onion/ W

e Methane bacteria/ ﬁﬂq\—:ﬂw
Correct Answer :-Methane bacteria/ 339 Sfiary
21)

Question Stimulus :-

The embryo may arise either from egg or some other cell of gametophyte in-/ YUl &I

e 3rve a1 idiwrse &t fdt sra wifkrer & gt 2-
Vegetative reproduction/'q'%ﬁu\_rF-H H
e Recurrent apomixes /&< wuifafeaa #

e Non-recurrent reproduction/aH.R&¥< Us=7 #

e Adventive embryony/&N@lT% YUrdT s |
Correct Answer :-Recurrent apomixes/ﬁﬁ? Taifyfeas &
22)

Question Stimulus :-

Escherichia coli is an important material for genetic experiments because-/EQﬁﬁlﬂT

PIaTg SRS TN | Agayyl ot g, wife-
e It is haploid/4g SWds &
e It can be easily cultured/SH®! Jadq Tgerdar 9 far ST godr &

e Both the above/mﬂﬁ ﬁ
* None of these / Eﬂ'ﬁ I aﬁéqﬁ

Correct Answer :-Both the above/G’qﬂTﬁ ﬂ*ﬁ

23)

Question Stimulus :-

The role of light in plants is that it controls-/ el # S W‘ﬁ ST g1 Frafia gt 8-

e Photosynthesis/ UHT AXATUT



e Distribution of hormones/ gdI-g &I faavur
e Movements/ Tfa af¥ad=
e All the above/ IWiaa Tt

Correct Answer :-All the above/ IWRIad 9t

24)

Question Stimulus :-

Gram +ve bacteria have-/3m¥ uifsifea aifyar #-
®* Thick and homogeneous cell walls/ I T g iR fafr sufe g @
* As much as 70% peptide molecules/ TTHIT 70% ﬂm 3] LGRS
e Either no lipids or less than 10% lipids/ fafdgs =8 gid a1 10% I %4 fafisa g &
e All the above/ SWIdd # & ¥+t

Correct Answer :-All the above/ IWRIad # ¥ 9t

25)
Question Stimulus :-

Which of the following observations most strongly support the view that mitochondria
contain electron transfer enzymes aggregated into compact association?/ fa # @ #4-

T 9 39 97 BT Uad GHAT a1 3 fF gaaei RIMTRUI TITSH UTh JU9 Jaieq § IufRd g1 82

e Mitochondria have a highly folded inner wall/ ATgel®ifogdar @t Wadt el d sM® aa=
AT

* Disruption of mitochondria yields membrane fragments which are able to

%ynthesize ATP/ HTSCIHI0SAT & ged | g a1l f3ifeaal & ghe ATP A=W § J&H gid

e Mitochondria in animal embryos have a tendency to concentrate in cells which are

to become a part of locomotory structure/ S YUl Pt DIfRIBIA o F@m 3f®
A5l § THA §Id § ol 3R TADR I AT BT HTT g

* A contractile protein capable of utilising ATP has been obtained from

mitochondria/ HHT-RNa MEH ATSSIHI0SAT A UTed ATP BT SUANT H1 A eH el 8

Correct Answer :-Disruption of mitochondria yields membrane fragments which are

%I%:%to synthesize ATP/ ATSCIPIUSAT & ged ¥ g4 arall ffeeal & ghg ATP IRAY0 I J&H



26)
Question Stimulus :-

Larger sub-unit of ribosome is composed of how many rRNA molecules-/ TI?[Eﬁ@T[ G|
931 IU-3P15 A rRNA & fha= 3iv] Uil ord §-

* One/Tdh

° Two/?r

° Three/?ﬁT-l

* Four/dRR
Correct Answer :-Two/dl
27)

Question Stimulus :-

For reproduction, 'endospores' are formed in the following genera-/ UsiHd T

TusieH g ot # frerd -

e Bacillus and Clostridium/ 3Ra9 3R e ifean

e Mucor and Bacillus/ ¥ 3R IRy

« Monococcus and Clostridium/ W& I&d 3R W@%‘lﬂr

« Saccharomyces and Clostridium/ IH TSR 3R AL HSTH
Correct Answer :-Bacillus and Clostridium/ e 3R wﬁ@ﬁa‘m

28)
Question Stimulus :-

Fruit keep better in refrigeration, this is due to-/ wdl &l IFoNeT | ﬁ?ﬂl’d T ST Hhdl %,
ST YT BRI 8-

« Non-availability of 05/ 0, &1 IUa 7 AT
e Absence of moisture/ TH! 3 srqufRufa
e Accumulation of 05/ 05 T JUg

e Inactivation of respiration/ Y9 &I faferg EﬂT-IT



Correct Answer :-Inactivation of respiration/ ¥9 &7 fAferg gi=r

29)
Question Stimulus :-

Which one is the precursor of chlorophyll?/ FARIP e &1 URRI® uard 8-
e Bacteriochlorophyll/ dadifvaieaRiftea
e Bacterioviridin/ d&aifafefea
° Tryptophane/@'ﬂﬁb_—l
* Chlorophyllide/ FRITPaES
Correct Answer :-Chlorophyllide/ FRRIftharss

30)
Question Stimulus :-

Which is odd one?/ 9 # & #i9-a1 faww 32
e China rose/ g A
® Maize/ HIRI
e Mango/ 3
e Sunflower/ GdqH

Correct Answer :-Maize/ HdPI

Topic:- Zoology
1)

Question Stimulus :-

CO is more toxic than CO, because-/ CO, CO, ¥ 3ift® fag<h gt 8, wifes-
e It effect the nervous system/ 9z a1 dF @) yuIfaa st ?

* It effect the transporting O, capacity of haemoglobin/ g gaafad ot (0 ] GEIE K|
&THdT P UeTal §

e It effect the lungs/ T8 bwsl &I &fd ugard 2

e It form acid combining with water/ 4 5 & ATY 3 g9T4T &



Correct Answer :-It effect the transporting O, capacity of haemoglobin/ g e
B 0, A T P &HAT P! UeTdT 8

2)
Question Stimulus :-
Which stage of silk insect secretes silk?/ I I BT BIA-IA AT IIM WTfad Hdl %?
e Pupa/ Wur
e Adult/ WE
e Cocoon/ &g
e Larva/ fe™
Correct Answer :-Pupa/ WUl
3)
Question Stimulus :-

Internal wall of fallopian tube, bronchi, & bronchioles is made up of:/ ﬁwﬁﬁmqﬁrﬁ,
SI~pTs Ud Fifpeied ot sidfe fufxr feas! o=t gidl &1

® Squamous epithelium/ P! IUDAT

Ciliated epithelium/ &A1} Iudmar

Coloumner epithelium/ THHTPR YDl

Cuboidal/ YATPIR SUDl

Correct Answer :-Ciliated epithelium/ g&aTft Susmar

4)
Question Stimulus :-

According to National forest policy, what percentage area of land should be covered by

forests?/ B o Hifd & SFAR YA F1 fFa=1 ufawa &= a1 § resfea g1 arfgd?
e 13%
e 23%
e 33%

® 439%



Correct Answer :-33%

5)
Question Stimulus :-

3-4 Benzopayrin cause-/3-4 3<IUTgF | g 8-
e Leukemia/ ®g&Hiadl
®* Lungs cancer/ ﬁ?l'h_eﬁ BT FER
e Typhoid/ dufe®
e Liver cancer/ foiR a=
Correct Answer :-Lungs cancer/ m PT FIAX
6)
Question Stimulus :-

Green house gases include-/ T/ﬂ'—rgl?&q Eig: | %'-

* CO,, CFC, CH, and NH3 /CO, CFC, CHy 3R NH3

e CO,, CFC, CH4 and SO, /CO,, CFC, CH, 3R SO,

e CO,, CFC, CH4 and N,O /CO,, CFC, CH, 3R N,0

* CO,, CFC, CH4 and N, /CO,, CFC, CH,4 3R N,
Correct Answer :-CO,, CFC, CH, and N,0 /CO,, CFC, CH, 3R N,O
7)

Question Stimulus :-

All biological classification of two kingdom system is divided into-/ I Sa&tg Tffezor &
3 srTd e & favnfa fear man 2-

e Plantae and Anemalia/ W=} 3R Tfmiferar
e Monera and Anemalia / {1977 3R uf~miferar
e Protista and Anemalia/ Wfeer six gfmiferar
* Protista and Plantae/ Wifewer 3R @<t



Correct Answer :-Plantae and Anemalia/ W= 3R ufaiferan

8)
Question Stimulus :-

The mechanism of improvement of human society by favouring controlled and
regulated reproduction between the person of desired characters is known as-/

gﬁ%ma&wﬁmﬁm%ﬁaﬁmﬁaawﬁawmwmﬁﬁmﬁﬁ%

Euthenics/ '{Frﬁilﬁﬁﬂ
Inbreeding/ 3f=i: Yo+
Eugenics/ '\fﬁﬁﬁﬂﬂ

All of these/ IUdad | $I5 T8l

Correct Answer :-Eugenics/ ﬁ\_ﬂﬁﬁﬂ

9)
Question Stimulus :-

In human being a pair of bone is found in-/ & i Qﬁﬁﬁﬁ \?rl'@lﬁ%ﬁ?ﬂ %'?
e External ear/ amawfﬁ'
e Pectoral girdle/ 3 A@ar d
* Lower jaw/ ﬁﬁr@f\_ﬂ?ﬁ
e Wrist/ $ag d
Correct Answer :-Pectoral girdle/ 3T A@ar §

10)
Question Stimulus :-

Asthmatic attacks increases in certain seasons due to-/ $& fAf¥a g o sremum & i

3fes 9 T RO 3-
e Inhalation of seasonal pollen grains/ FAE WRRTHU BT -4
* How temperature of the winter season/ TRq BJ i) R GIGIEEIG]

e Ingesting of seasonal vegetables/ B8 Tfoaal A iaigur



e Law temperature and humidity of the winter season/ <JA ATUHTH 94T IXG B3l &

CIIECH

Correct Answer :-Inhalation of seasonal pollen grains/ %—g[ﬁg RETHUT BT 419

11)
Question Stimulus :-

Sperms are produced in-/XhT0] IUA gid 8-
e Vas deferens/ a9 femyg A
e Seminiferous/ AfFHI Aferwrat &
e Interstitial cell/ SIEIRTA HIfHT &
* Prostate gland/ e UfY A
Correct Answer :-Seminiferous/ At Aferers &

12)
Question Stimulus :-

The total Number of ova produced from 100 primary oocytes is-/ 100 WY& USH
DIGTSM A T ardl USTUSHT BT =T -

e 400
e 300
e 100
e 200
Correct Answer :-100

13)

Question Stimulus :-

Hybridoma technology is used for-/ EE'EﬂSﬁTIT BT TART giaT %—
e Killing cancer cells/ $R HIR®I3M H ARA & ford
e Formation of somatic hybrid/ STU® &I 91 & ford

e Producing monoclonal antibodies/ HiFIad Clarstel 9414 & o



e Antibiotic production/ Ufauifd® a4 & o
Correct Answer :-Producing monoclonal antibodies/ WA d geaisie g9 & ford
14)

Question Stimulus :-

In which of the following aquatic biosphere present between India and Srilanka. / HRd

q fidet & g o d / S-91 Sy o9 7usd SufRd 772
e Sundar Ban/ & ¥4
* Chilka Lake/ feer gita
e Pulicat Lake/ Jfer@e gita

e Gulf of Mannar/ HAR &I @Ist
Correct Answer :-Gulf of Mannar/ HAR & @ISl
15)

Question Stimulus :-

The process of formation of adults from larva after embryonic development is known

as-/ YOig faera & uyra araf & M 999 9 9 fkar Sgard! 8-
e Growth/Jf&
e Metamorphosis/ FTAT<RUI
e Ageing/Judl

e Regeneration/ TAfHATT

Correct Answer :-Metamorphosis/ STAT<IXUI

16)
Question Stimulus :-

‘New systematics’ purposed by sir Julian Haxsle is known as-/3X \-:[I%m g
&1 Uafad g RReAfeaw & we1 &irar 2-

° Phynetics/ﬁﬁﬁﬁ'\‘r
e Bio-systematic/ sra-faeafea
e Caledistics/ Tafsfeaa



e Numerical taxanomy/ <RI SRATHT
Correct Answer :-Bio-systematic/ sTa-fRreafead
17)

Question Stimulus :-

Larynx is present in-/ $US QAT SITdT %?
* Frog but not in rabbit/ Ao A W @M H T-Ftﬁ
e Rabbit but not in frog/ TN & =] ¥ Hed H gl
e Both frog and rabbit/ He® dUT WM G4l A
e None of them/ f&ft & =g

Correct Answer :-Both frog and rabbit/ He® dUT @I gl A

18)
Question Stimulus :-

Which expression is cloning plasmides instead of plasmid?/ g d ¥ s-a1 Eﬂ'\‘lﬁm
WIFRTS 7 B T~ WS 3-

e pBCSK
e pBAD-18-Cam
e pUC-18
* pET
Correct Answer :-pUC-18

19)
Question Stimulus :-

The pancreas secretes-/ 3T FTfAd HIdT 8-
e Pancreozymin/ tfsratemsii=
e Angiotensin I/ TR I
e Somatostatin/ TAeRfeT
e Angiotensin II/ Qﬁl‘fﬁ%ﬁﬁ II



Correct Answer :-Somatostatin/ FAereefe

20)
Question Stimulus :-

Who form coacervates experimently-/ aﬁwﬁw P YA gRT Iad fpar-
e By Urey and Miller/ 1]? aur frer A
e By fisher and Huxle/ firer qur mﬁﬁ
¢ By Sidni Fox and Oparin/ st wieg aur siufva 3
e By Jecob and Monade/ SiIg ddT HIFTS A
Correct Answer :-By Sidni Fox and Oparin/ st wiaq 91 siiufes =
21)

Question Stimulus :-

Structural factor of Cell wall is:/ P FUfRT &1 ST S Ueh %'I
e Matrix/ 'Elﬁil'ﬂ
* Microtubules/ ATSHIc eI
* Microfibriles/ HTSHIBTS S
e None of these/ S8 ¥ ®Ig g1
Correct Answer :-Microfibriles/ ATS®HIGTSIT

22)
Question Stimulus :-

Indian regions in which biodiversity found in large scale-/HRRd H sreaf¥e Sa fafaear &1
ot & 8-

e Ganga region/ T &1 &F
e Trans Himalaya/ g9 fgare™
® Western landing place/ ufift =Te

e Central India/ HH 4URRd

Correct Answer :-Western landing place/ uf3t gre



23)
Question Stimulus :-

At which stage cell reached when synapsis reached on chromosomes is called:/ Sd
gﬁgﬁﬂq(ﬁﬁm) YR TR R R S I gl B, 79 R arawn § Hifkier uga T}, 3@ e
e Zygotene/ GI'IETﬁ'a'FI Uell STt
e Pachytene/i&dH
®* Diplotene/ fEwd=
e Dikinesis/ STABTEART
Correct Answer :-Pachytene/ﬁﬁ'ﬂ?
24)

Question Stimulus :-

In aquatic condition, free floating micro animals and plants, collectively, called-/ forett

ST araTaR vl § g Sigsil onR el it 9y Hed -
e Herbivores/ mﬁ
e Commensals/ HgHIsil
® Plankton/ Wid&
e Fauna and Flora/ WO 3R US-uig
Correct Answer :-Plankton/ Wd&
25)

Question Stimulus :-

Organelle in Polyform is known as:/ DIRBIT forTd qdgd 3ff® gg&=adl it STt 82
®* Dictyosome/ fefeearam
e Mitochondria/ HTSEI®IvSAT
° Lysosome/?l'l%@'\ﬂﬁ'q
e None of these/39H ¥ ®I§ gl



Correct Answer :-Dictyosome/ fSfaeaiaia

26)

Question Stimulus :-

Which part of tooth is covered with enamel?/ Efl"cr BT BIF-9T U sﬁﬁa q TBT T;ﬂ?IT %?
* Root/ {Jd

* Crown/ I3

° Dentine/@?ﬁ:{
e All of these/ Sudaa Tt

Correct Answer :-Crown/ 131

27)
Question Stimulus :-

The concept of inheritance with the genes on the same chromosomes and with some
hereditary is called?/ |THE HIHANYT R UH-UTT R 9 & JTY-TTY TRARFTT G Dt FHeqT
@1 gl ATl 8-

* Quantitative inheritance/ '{[UTI?HT:F?:WI'ITT[?I
e Crossing over/ S fafewg
* Gene interaction/ W9 @t UR¥Uf¥® fopar
* Linkage/ dgcidl
Correct Answer :-Linkage/ dgcill
28)

Question Stimulus :-

Which of the following is special connective tissue?/ g & @ #19 fafly e g SHae

?

Cartilage/3Sulfy

Blood/ Ydd

Hormone/ B'I'lﬁ:[
None of these/ 3=|1?r J Elﬁ'é' T-I'é’f



Correct Answer :-Blood/ YId&d

29)

Question Stimulus :-

Deficiency of Vitamin E causes-/ faerfia-g @ &+ ¥ giar 8-
° Scurvy/ﬁ
e Beri-Beri/ N-3H
e Impotency/ Aqd&dl
e Pellagra/ fU@nm
Correct Answer :-Impotency/ Sqdodl
30)

Question Stimulus :-

Gigantism and acromegaly are caused due to-/HgIRIAdT dUT Eﬁ*ﬁ'ﬁ'ﬁ?ﬂ g srU g %'?
e Hypothyroidism/ smg—awcr%qm
e Hypopituitrism/ ar%hﬁ'q;qm
e Hyperthyroidism/ Glﬁ'g'-élﬁlm
e Hyperpituitrism/ &rﬁﬁtgqm
Correct Answer :-Hyperpituitrism/ 3ffafrgwar

Topic:- General English
1)

Question Stimulus :-

Fill in the blank with the correct option.

She the bell in a hurry.
* ring
 had ring

e has rung

e have rung



Correct Answer :-has rung

2)
Question Stimulus :-
Fill in the blank with the correct phrasal verb.

The chiefguest __ the prizes.
e gave off
e gave away
e gave up
e gave out
Correct Answer :-gave away
3)
Question Stimulus :-

What is the meaning of the prefix ‘ambi’ in the word ‘ambiguous’?
e variety
e many
e single
e both
Correct Answer :-both
4)
Question Stimulus :-

Out of the four words given below, find the word which is a synonym of
‘abandon’?

e Accept
e Agree
e Leave

e Migrate



Correct Answer :-Leave

5)
Question Stimulus :-
Fill in the blank with the correct option.

Mary said nothing, but she drank some teaand ate_______ bread.
o little
e a little
e few
e afew
Correct Answer :-a little
6)

Question Stimulus :-

Out of the four words given below, find the word which is not correctly spelt?
e Occurrence.
e Guarantee.
e Occassion.
e Believe
Correct Answer :-Occassion.
7)
Question Stimulus :-

Fill in the blank with the correct option.

I never have achieved this without the encouragement of my parents
and teachers.

e must
e can

e could



e should
Correct Answer :-could
8)
Question Stimulus :-

Fill in the blank with the correct option.

Even when you win a match you always feel you
e ought to have
e must have
e can have
e could have
Correct Answer :-could have
9)
Question Stimulus :-

Fill in the blank with the correct option.

Health is than wealth.
e important
e more important
e most important
e the most important
Correct Answer :-more important

10)

Question Stimulus :-

played better.

What is the meaning of the prefix ‘dys’ in the word ‘dysfunctional’?

o extra
e normal

e abnormal



e regular
Correct Answer :-abnormal
11)
Question Stimulus :-

Out of the four words given below, find the word which is a synonym of
‘adversity’?

e Variety

o Difficulty

e Wealth

e Happiness
Correct Answer :-Difficulty
12)
Question Stimulus :-

Fill in the blank with the correct option.

This is play that I have ever heard on the radio.
e more interesting
e the more interesting
e most interesting
e the most interesting
Correct Answer :-the most interesting
13)
Question Stimulus :-

Fill in the blank with the correct option.

The birds , and their empty nests in the bare trees were filled with
sSnow.

e has flown

e have flew



e had flew

e had flown
Correct Answer :-had flown
14)

Question Stimulus :-

Out of the four sentences given below, which is the correct indirect speech of
the sentence?

The teacher said, “"The sun rises in the East”.

e The teacher said that the Sun always rose in the east.

e The teacher said that the Sun had risen in the east.

e The teacher said that the Sun rose in the east.

e The teacher said that the Sun rises in the East.
Correct Answer :-The teacher said that the Sun rises in the East.
15)

Question Stimulus :-

Out of the four sentences given below, which is the correct active voice of the
sentence?

Why was such a letter written by you?

e Why do you write such a letter?

e Why have you written such a letter?

e Why had you written such a letter?

e Why did you write such a letter?
Correct Answer :-Why did you write such a letter?
16)

Question Stimulus :-

Out of the four sentences given below, find the sentence which is
grammatically correct?



Neither Rita nor her sisters are coming to the party.

Neither Rita nor her sisters is coming to the party.

Neither Rita or her sisters are coming to the party.

Either Rita nor her sisters are coming to the party.

Correct Answer :-Neither Rita nor her sisters are coming to the party.
17)

Question Stimulus :-

Out of the four sentences given below, which is the correct indirect speech of
the sentence?

He said, ‘Burglars broke into my house last night.’
e He said that burglars broke into his house the last night.
 He said that burglars had broken into his house the previous night.
e He said that burglars had broken into his house the last night.

e He said that burglars have broken into his house the previous
night.

Correct Answer :-He said that burglars had broken into his house the previous
night.

18)
Question Stimulus :-
Choose the correct article to fill in the given blank.

forbidden fruit is always the sweetest.
® a
e an
® the
* No article required

Correct Answer :-the

19)



Question Stimulus :-
Fill in the blank with the correct option.

The Arabian Nights ____ one of the best story books of all times.
e is
e are
e were

® have

Correct Answer :-is
20)

Question Stimulus :-

Fill in the blank with the correct phrasal verb.

He ___ his shoes before entering the temple.
e took over
e took out
e took off
e took in
Correct Answer :-took off

21)
Question Stimulus :-

Out of the four sentences given below, which is the correct passive voice of the
sentence?

Does she make candles?
e Is candles made by her?
e Are candles made by her?
e Did she make candles?

e Had she made candles?



Correct Answer :-Are candles made by her?

22)

Question Stimulus :-

Out of the four words given below, find the word which is not correctly spelt?
e Beginning.
e Intermission.
e Mysterious.
e Maintainance.
Correct Answer :-Maintainance.
23)
Question Stimulus :-

Fill in the blank with the correct preposition.

A country's future prosperity depends, to an extent, the quality of
education of its people.

e at

e for

e upon

e in
Correct Answer :-upon
24)

Question Stimulus :-

Out of the four sentences given below, find the sentence which is
grammatically correct?

e The pyramids in Egypt is the oldest monument in the world.
e The pyramids in Egypt are oldest monuments in the worlid.
e The pyramids in Egypt are the oldest monuments in the world.

e The pyramids in Egypt are the older monuments in the worid.



Correct Answer :-The pyramids in Egypt are the oldest monuments in the world.
25)
Question Stimulus :-
Fill in the blank with the correct preposition.
A British womanwas ____ the 54 victims of the disaster.
® between
e among
e besides
 beyond

Correct Answer :-among

Topic:- Reading Comprehension
1)

Question Stimulus :-

Travelling through air had always been a phobia for me. Since my childhood I
had developed a fear of air travel. It seemed so terrifying to me, even though I
knew that thousands fly around the globe every day. But this fear was so deep-
rooted and no matter how much I tried, I couldn’t get over it.

What is the meaning of the word ‘phobia’ in the passage?
e Amusement.
e Excitement.
e Abnormal fear.

e Pleasure.

Correct Answer :-Abnormal fear.

2)

Question Stimulus :-

Travelling through air had always been a phobia for me. Since my childhood I had developed a
fear of air travel. It seemed so terrifying to me, even though I knew that thousands fly around
the globe every day. But this fear was so deep- rooted and no matter how much I tried, I

couldn’t get over it.

Which word is synonymous to the adjective ‘deep-rooted’, which is used for fear in the passage?



® Hollow.

® Superficial.

® Temporary.

® Established.
Correct Answer :-Established.
3)

Question Stimulus :-

Travelling through air had always been a phobia for me. Since my childhood I had developed a
fear of air travel. It seemed so terrifying to me, even though I knew that thousands fly around
the globe every day. But this fear was so deep- rooted and no matter how much I tried, 1
couldn’t get over it.

What does the phrase ‘get over’ suggest in the lines given above?
® Survive.
® Overcome.
® Forget.
® Enjoy.
Correct Answer :-Overcome.
4)
Question Stimulus :-

Travelling through air had always been a phobia for me. Since my childhood I
had developed a fear of air travel. It seemed so terrifying to me, even though I
knew that thousands fly around the globe every day. But this fear was so deep-
rooted and no matter how much I tried, I couldn’t get over it.

What does the author mean by the sentence ‘thousands fly around the globe
every day’?

e Many people go abroad.
* Lots of people visit different parts of the world.
A large number of people travel by air almost every day.

e None of the above.



Correct Answer :-A large number of people travel by air almost every day.

5)

Question Stimulus :-

Travelling through air had always been a phobia for me. Since my childhood I
had developed a fear of air travel. It seemed so terrifying to me, even though I

knew that thousands fly around the globe every day. But this fear was so deep-
rooted and no matter how much I tried, I couldn’t get over it.

Out of the given options what could be the best title for the given passage?
e Childhood pleasures.
e Overcoming a fear of flying.
e Travelling experiences.

e Dreams and desires.

Correct Answer :-Overcoming a fear of flying.



